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y = y. 2. zdy — ydx = 0. 3.g7—.=—sin0.
de

(?/2+1)dx—(x2—l—1)dy=0. 5.%c0t0—r=2.

2 3 2 2
yz' dy — y° dz = 22" dy. 7. (" — 1) de — 2y +zy) dy = 0.
zlogzdy +vV1-+ y2de = 0. 9. e”+1tanydx+cosydy=0.
rcosydr+ z2sinydy = a?sinydy.
dr
6 - r tan 4.
(x — 1) cosy dy = 2rsiny dz.
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y' = ylogy cot z.

rdy + (1 + y2) Arc tan y dz = 0.

dy + z(y + 1) dxz = 0.

e’(z? + 2¢ 4+ 1) dz + (zy + y) dy = 0.

d

Zry=0 y) =1

T

sinzx cos 2y dzr + coszxsin2ydy = 0, y(0) = =/2.

(1 —=a)dy = z(y+ 1dz, y(0) = 0.

ydy + rdxr = 3zy?dr, y(2) = 1.

dy = e**t¥vdz, y(0) = 0.

Define the differential of a function of three independent variables; of n
independent variables.

ANSWERS 6

y = ce*. 2. y = cz. 3.r = cosf+c.
Arctanz = Arctany -+ ¢ or z —y = C(1 + zy), where C = tanc.

r=csech — 2 rFE —2 0#—275+n7r; r = —2,

(cx+1Dy? =@y — Nz, 2#0, y=0; y=0.
z+2=cVy2 —1, z# —2, y# x1; y = =%l.

log ||y +Vy2+1) =¢ 0, z7#1.
e*tl 4+ log (cscy — coty) +cosy =¢, y # nw; y = nmw.
a2—:c2=ccos2y, xzyéaz, y¢g+n7,-; y=g+nﬂ-.
rcosf =¢, r # 0, 0;5—275—}—n7r; r = 0.

siny = (x — 1)%%%, 1, y # nmr; y = nmw.
y = e®nz g oy, y # 0.

y = tan (¢/z), z = 0.

y=ce %2 —1, y#—1; y=—1.
2242z =e ¥+ ¢, z ¥ —I1.

y = el™2,

cosZzcos2y = —1.

y+ DA —2) =e=

3y2 = 1+ 2632212,
e+ eV = 2,



